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JUNIOR SCHOOL EDUCATION 

GRADE EIGHT (G8)

TERM 2 2024 

MID TERM ASSESSMENT 

MATHEMTICS
Name: ____________________________________.

School: ___________________________________.

Assessment number: ___________________. Date: _______________________.

1. Which of the following are integers?(2mks) -124, 254, -1.9, -7, 0, 2¹/₄, -²/₃, 5.83

2. Use number line to evaluate -2,-4 (1 mk)

3. A wedding was attended by people as follows on a given day; ²/₉ were elders ¹/₄ were children and the rest were the youths. Work out the fraction of the youths at the wedding on that day.

(2 mks)

4. Calculate: 5¹/₂ + 3²/₃ + 1⁴/₅ (3mks)

5. Calculate  
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6. Convert the following recurring decimals to fractions. (4mks)

a) 0.4 
b) b) 0.723
7. Write 3692 to one significant figure. (1mks)

8. Express the following in standard form. (4mks)

a) 28071

b) 391.0869

9. Work out: (3mks)

12.8 ÷ 0.4 + 0.02(6.76 - 0.08 x 4.0) x 25.25

10. What is the next fraction in the pattern? ³/₈, ⁷/₈, 1³/₈, 1⁷/₈, ______________________

11. The ratio of the width to length of the football field is 6:10. If the length is 75m,What is the width of the field? (2mks)

12. A shopkeeper adjusted the price of a loaf of bread from shs 60 to shs 80. Calculate the percentage change in price of the loaf of bread. (2mks)
13. Simplify the following
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14. Five shirts and four pairs of trouser cost a total of sh 6150.Two similar shirts and three similar pairs of trousers at the same price cost a total of sh 3650. Calculate the cost of a shirt and a pair of trouser. (4mks)
15. Calculate the size of angle marked x? (2mks)
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16. Calculate the area of the figure below made of a square and semi-circle. π = ²²/₇
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17. Construct an isosceles triangle ABC given that AB = U.5 cm, AC = BC = 5.5 cm. Bisect angle CBA and BAC. Draw the circle touching the edges, measure the diameter of the circle. (3mks)
18. Juma spent half of his July salary on school fees. ¹/₈ on farming and ²/₃ of the reminder on food. Calculate his July salary if he spent sh 3200 on food. (2mks)
19. Three bells ring at the interval of 12 minutes, 18 minutes and 15 minutes. If they rang at the same time at 10:00 am. After how long will they ring together? (2mks)
20. Bakira’s father collected milk in litres from his dairy cattle in a week. He represented the amount of milk collected on a bar graph. Study the bar graph and answer the questions that follow:
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a) Which day had the highest amount of milk collected in litres? (1mk)

b) How many litres of milk were collected on Friday? (1mk)

c) Work out the total amount of milk in litres that Bakira’s father collected in a week. (2mks)

21. Circle the integers in the following number (3mks) 1¹/₂ , 24 , -7 , 10¹/₄ , 0 , 4.96

22. Grade 8 learners of Bidii Junior School were performing different operations on a number line. Use a number line and show how they solved the following.

· -7 +7 (2mks)

· -2- 4  (2mks)

· 6+ 4  (2mks)

· - 2 - 7 +4 (2mks)

23. There were 6 boys in grade 8 at the beginning of the term, 5 more boys joined the class within the first two weeks. On the fourth week 2 boys transferred from the class. Use a number line to show the number of boys who remained in the class. (3mks)

24. Represent the following number on a number line and compare which one is greater.

· -6 and 3 (2mks)

· -4 and +2  (2mks)

· 8 and -10 (2mks)

25. Peter was making jumps on a number line from 3 to 4.

· Draw a number line to illustrate his jumps. (2mks)

· Which integers did he step on? (2 mks)

· Was he moving forward or backward? (2 mks)

· How many jumps did he make? (2 mks)

26. A drum had 20 litres of water. Mercy used 7¹/₄ litres to clean the house. She then added 2¹/₂ litres to the drum. How many litres of water remained in the drum? (3mks)

27. A shopkeeper packed 5¹/₄kg of sugar in ³/₄ packets. He then sold each packet at sh.120. How much money did he get altogether? (2mks)

28.  In a basket, of the fruits are mangoes and the rest are bananas. If there are 12 mangoes;

· how many bananas are there? (2mks)

· How many fruits are there altogether? (2mks)

29. Nick spend ¹/₈ of his salary on rent, ¹/₃ on food, ¹/₆ on school fees and saved the rest.

· What fraction does he save? (2mks)

· If he earns sh.48 000, how much does he spend on rent? (2mks)

30. Convert ³/₈ to a decimal number and write the decimal number to 2 correct decimal places. (3 mks)

31. A Mathematics teacher in Latet Junior school wrote the following fractions below on the board and asked the learners to identify the recurring decimals.

· Identify two recurring decimals. (2mks)

· Write the decimals in 11(a) using the decimal notation. (2mks)

32. Write 4826 correct to 2 significance figures. (1 mk)

33. Round off 0.000428 correct to 1 significant figure. (1 mk)
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